Exercise | Group 1| Group 2| Group 3| Group 4| Greup-5| Group (10)6|Group X |Topic

1.2 0 0 0 0 (e 0 0|Org: Data

1.3 10 10 10 10 10 10 10{Zimpl: Bricks

14 10 10 10 10 10 10 10|Zimpl: Plant

2.1 10 10 10 10 10 10 10|Zimpl: SEC

2.2 10 10 10 10 10 10 10|Zimpl: SEC 2

3.1 10 10 10 10 10 10 10(Zimpl: MTZ

3.2 10 10 10 10 10 10 10|Zimpl: Flow

3.3 10 10 10 10 10 10 10(Zimpl: TSP

4.1 10 10 10 10 watt 10 /|Zimpl: VVW

4.2 10 10 10 10 watt 10 /|Comp: VVW

4.3 10 10 10 10 watt 10 /|Comp: VVW

5.1 8 10 10 8 9 10|Proof: Cycle Cone
5.2 6 10 / 9 10 10|Zimpl: VRP

53 10 9 / 7 6 3|Comp: VRP

6.1 9 8 10 10 9 10|Proof: Steiner Cut
6.2 10 10 10 / 10 10(Zimpl: STP

6.3 10 10 10 / 10 10{Comp: STP

)3 153 157 140 134 70 154 123(Sum

>-50% 68 72 65 59 30 69 53|Certificate: 20
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